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QUESTION 1

You are implementing a Hitachi Unified Storage File Module cluster with a single SMU. How do you run the smu-config
script? 

A. Connect an Ethernet cable and login as supervisor. 

B. Connect a serial null-modem cable and login as supervisor. 

C. Connect an Ethernet cable and login as root. 

D. Connect a serial null-modem cable and login as root. 

Correct Answer: D 

 

QUESTION 2

A customer uses TrueCopy and ShadowImage with Hitachi AMS2000 modular arrays. They are interested in upgrading
those systems to Hitachi Unified Storage (HUS). Which two benefits will the customer have with HUS systems in this
environment? (Choose two.) 

A. TrueCopy and ShadowImage will no longer require a DM-LU. 

B. TrueCopy and ShadowImage will require less cache in the systems. 

C. The granularity of differential data being copied to the replication target has improved. 

D. The size of the DM-LU used for ShadowImage and TrueCopy will be reduced by about 50%. 

Correct Answer: BC 

 

QUESTION 3

A customer wants to configure a specific 5GB LUN for the fastest possible response time on a Hitachi Unified Storage
system. Which feature should be used? 

A. Cache Partition Manager 

B. Volume Migration 

C. Cache Residency Manager 

D. Data Retention Utility 

Correct Answer: C 

 

QUESTION 4

A customer has installed a Hitachi Unified Storage (HUS) system with only port 0A connected to a Linux server. There is
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a video streaming application running on the server. You have to perform a firmware update using SNM2. What will
happen when the update is started? 

A. The Linux application will continue to function non-disruptively. 

B. The Linux server will time-out because there is no alternate path. 

C. The firmware update process will abort if the HUS does not have at least 5 seconds of no I/O activity on port 0A
within 5 minutes. 

D. The firmware update will fail because the HUS active/active controller feature checks for alternate pathing. 

Correct Answer: A 

 

QUESTION 5

Yesterday you allocated five new LUNs for a Solaris 9 host. Today the Solaris administrator is concerned about corrupt
data because the host system log has several entries referencing the new LUNs with the following message: "Corrupt
label; wrong magic number". What do you tell the Solaris administrator? 

A. That they need to configure Device Mapper for the newly allocated LUNs. 

B. That they should shut down the server right away and that you will allocate five new LUNs. 

C. That the message is normal for new LUN allocations and that they just need to label the new partitions. 

D. That the Master Boot Record (MBR) on one of the disks has become corrupt and that rebooting the host should fix
the issue. 

Correct Answer: C 

 

QUESTION 6

What are two effects of persistent binding? (Choose two.) 

A. Persistent binding can speed up path failover. 

B. Persistent binding guarantees Command Device security. 

C. Persistent binding can speed up the server boot process. 

D. Persistent binding guarantees that target assignments are preserved between reboots. 

Correct Answer: CD 

 

QUESTION 7

Which two Hitachi Dynamic Link Manager documents provide detailed information of supported Fibre Channel HBA
drivers? (Choose two.) 

A. Hitachi Engineering Change Notice (ECN) 
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B. Hitachi Dynamic Link Manager Release Notes 

C. Hitachi Dynamic Link Manager Concepts and Planning Guide 

D. Hitachi Dynamic Link Manager for Operating Systems User\\'s Guide 

Correct Answer: AB 

 

QUESTION 8

Which two statements relating to the online firmware upgrade are true for Hitachi Unified Storage systems? (Choose
two.) 

A. Only the HUS model 150 storage system supports online firmware upgrades. 

B. Online firmware upgrades should not be scheduled for periods of high CPU workload. 

C. Online firmware upgrades can only be done using Storage Navigator Modular 2. 

D. All hosts must have multiple paths to the HUS when performing online firmware upgrades. 

Correct Answer: BC 

 

QUESTION 9

You have set Extended Round Robin on a server with intensive sequential I/O profile. Which two benefits result from
implementing this algorithm? (Choose two.) 

A. tracks preloaded to cache 

B. blocks held permanent in Read Cache 

C. no tracks preloading on the system 

D. efficient cache usage on the storage system 

Correct Answer: AD 

 

QUESTION 10

How should the Hitachi Unified Storage systems dual power supplies be connected? 

A. by FS6 circuits breakers 

B. only one should be connected, the other being standby 

C. by adjacent sockets on a single power distribution unit 

D. by two independent and appropriately rated power distribution units 

Correct Answer: D 
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QUESTION 11

Which two Program Products reserve cache in a Hitachi Unified Storage system when they are installed, even if
disabled? (Choose two.) 

A. TrueCopy 

B. Cache Partioning Manager 

C. ShadowImage 

D. TrueCopy Extended 

Correct Answer: BD 

 

QUESTION 12

What are two characteristics of the active/active architecture on the Hitachi Unified Storage (HUS) systems? (Choose
two.) 

A. Multiple ports from the same controller are required to support the active/active feature. 

B. Firmware upgrades are non-disruptive even with one path from a host. 

C. Controller workload balancing is managed by the HUS system. 

D. HDLM needs to be used to benefit from the active/active feature. 

Correct Answer: BC 

 

QUESTION 13

You need to replace the Controller Unit and the ENC Unit online on a Hitachi Unified Storage system. Which statement
is correct about online replacement times? 

A. within 8 minutes for the Controller Unit and within 10 minutes for the ENC 

B. within 10 minutes for the Controller Unit and within 8 minutes for the ENC 

C. both Controller Unit and ENC within 8 minutes each 

D. both Controller Unit and ENC within 10 minutes each 

Correct Answer: D 

 

QUESTION 14

Why will a server in an environment using persistent binding maintain a constant view of its target IDs when rebooted? 
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A. Because persistent binding retains the target ID information. 

B. Because the LU Management Service will manage the target IDs. 

C. Because the driver software remaps the SCSI target ID to the new WWNNs automatically. 

D. Because persistent binding will connect to the LU Manager and provide the target IDs. 

Correct Answer: A 

 

QUESTION 15

What is Hitachi Data System\\'s recommended practice for zoning? 

A. port-based zoning 

B. zoning is optional 

C. single HBA zoning (one HBA per zone) 

D. single operation system zoning (all HBAs from one OS in a zone) 

Correct Answer: C 
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